Exam II; F4360; Summer, 2001




Name ______________________________

Short answer questions/problems

1.  List the capital budgeting rules that may lead to incorrect decisions because the rule ignores the time value of money.

2.  Your firm has just acquired an asset for $350,000 that falls into the 7-year depreciation class according to the 1986 Tax Reform Act.  If your firm's marginal tax rate is 35%, what will the impact of the cost of acquiring the asset have on the firm's incremental, after-tax cash flows 4 years from today?

3.  What is the main difference between the underwriting spread and underpricing?

4.  What is the feature of a bond called which allows the firm to retire the bond early by paying a premium?

5.  Assume a firm is considering investing in a project that is less risky than the firm’s existing assets.  What type of capital budgeting error might be made if the firm uses it weighted average cost of capital when calculating the value of the project?

6.  Your firm is considering undertaking a project which can be expanded if sales exceed expectations or abandoned if sales are less than expected.  Sketch a decision tree for this decision.

7.  Briefly explain why a conflict of interest might exist between stockholders and managers regarding the firm's company specific risk.

8.  What evidence do we have that conflicts of interest do in fact exist between stockholders and bondholders?

9.  Your firm has just undertaken a project that can be expanded if successful.  Your firm has decided to value this possible expansion using option theory.  What would you use for the exercise price when valuing this option?

10.  Games Unlimited has recently instituted an EVA bonus system for its employees.  Jim Jeffrey's, Games' CEO, has a base salary of $2,400,000 and a target EVA bonus of 120% of salary.  Games' target EVA for 2001 is $450 million.  If Games' actual EVA is only $300 million and the leverage factor is set to $400 million, how much of a bonus will Mr. Jeffrey's earn for 2001?

Problems/Essays

1.  MustViewAds Inc. (a firm which writes programs that threaten to randomly delete files from your hard-drive if you do not click on their banner ads) has assets with a current market value of $500,000 and owe bondholders $750,000 seven years from today.  MVA is considering investing $100,000 to create a new set of software which MVA expects to have a net present value of $25,000.  The new project would raise the standard deviation of returns on MVA's assets from the current 54% to 67%.  MVA would fund the project by using $15,000 of internal cash, by issuing additional debt that matures for $80,000 seven years from today, and by issuing common stock if necessary.  The expected life of MVA's current assets and of the new software is 10 years.  The APR (with continuous compounding) on Treasury strips vary by maturity as follows:  1-yr = 3.58; 5-yr = 4.84; 7-yr = 5.17; 10-yr = 5.49; 15-yr = 5.94%, 30-yr = 5.60%.

What is the value of the firm's stock after the project is undertaken?

2.  The firm you work for is contemplating increasing its leverage by issuing debt and repurchasing shares of common stock.  Your boss has asked you to put together a list of the benefits that additional debt would create for the stockholders of your firm (he has asked someone else to create a list of downsides).  What benefits should you discuss and what information would you need to collect in order to determine the extent to which your firm's stockholders would actually benefit from the additional debt.

